Supervisor Bosworth offered the following resolution and moved its adoption, which resolution was declared adopted after a poll of the members of this Board:

RESOLUTION NO. 568 - 2020

A RESOLUTION AUTHORIZING THE AWARD OF A BID FOR BOILER MAINTENANCE, SERVICING AND REPLACING (TNH245-2020).

WHEREAS, the Director of Purchasing (the "Director") has solicited bids for boiler maintenance, servicing and replacing; and

WHEREAS, bids were received as set forth in Exhibit A attached hereto (the "Bids"); and

WHEREAS, following a review of the Bids, the Director has recommended an award as set forth in Exhibit B attached hereto (the "Award"); and

WHEREAS, this Board wishes to authorize the Award as recommended by the Director.

NOW, THEREFORE, BE IT

RESOLVED that the Award as recommended by the Director is hereby authorized; and be it further

RESOLVED that the Supervisor be and hereby is authorized and directed to execute, on behalf of the Town, any purchase agreements and related documents, a copy of which shall be on file in the Division of Purchasing, and to take such other related action as may be necessary to effectuate the foregoing; and be it further

RESOLVED that the Comptroller be, and hereby is, authorized and directed to pay the costs of said awards upon receipt of a duly executed and certified claims therefor.

Dated: Manhasset, New York

December 17, 2020

The vote on the foregoing resolution was recorded as recorded as follows:

Ayes: Councilperson Dalimonte, Councilperson Lurvey, Councilperson Russell, Councilperson Seeman, Councilperson Zuckerman, Supervisor Bosworth

Nays: None

Absent: Councilperson Ferrara

cc: Town Attorney Comptroller Purchasing

TNH245-2020 Boiler Breechi	TNH245-2020 Boiler Breeching, Repair, Service and New Construction.	uo		Commercial Instrumentation Services 681 Grand Blvd. Suite 7 Deer Park, NY 11729 Mark Finguerra 631-243-4300 mikep@cis-ny.com		Emcor Services NY/NJ 5 Dakota Drive, Suite 111 Lake Success, NY 11042 Herman Van Vliet 516-497-3104 Hvanvliet@Emcor.net	111 42 <u>t</u>	Energy Mechanical Inc. 99 Milbar Blvd. Farmingdale, NY 11735 Michael Raguseo 718-866-8544 Mike@energymechanicalny.com	nc. 35 nicalny.com
N O	DESCRIPTION	UNIT	ESTIMATED NUMBER PER YEAR*	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL PRICE
_	STEAMFITTER	HOURLY	100	A(Installation)\$170.00 B(Service) \$100.00	\$17,000 \$10,000	\$158.00	\$15,800.00	\$96.00	\$9,600.00
2	2 SHEETMETAL WORKER	HOURLY	25	\$150.00	\$3,750	\$158.00	\$3,950.00	\$105.00	\$2,625.00
3	ELECTRICIAN**	HOURLY	20	\$150.00	\$3,000	\$158.00	\$3,160.00	\$80.00	\$1,600.00
4	4 PLUMBER**	HOURLY	20	\$150.00	\$3,000	\$158.00	\$3,160.00	\$68.00	\$1,360.00
5	FLAT FEE FOR PROJECT ESTIMATE (if applicable)^	EACH	20	\$200.00	\$4,000	\$0.00	0	\$25.00	200
9	6 PARTS***	ЕАСН		15% above Certified cost		15% above Certified cost		15% above Certified cost	
	7 BOILERS AND EQUIPMENT***	ЕАСН		15% above Certified cost		15% above Certified cost		15% above Certified cost	
∞	SUBCONTRACTOR**	ЕАСН		15% above Certified cost		15% above Certified cost		15% above Certified cost	
	TOTAL				\$23,750.00		\$26,070		\$15,685
Please or system	Please confirm that you can maintain, service and repair the geothermal system at YWCCC (YES / NO)	air the geot	hermal		YES	·	YES		YES

TNH245-2020 Boiler Breeching, Repair, Service and New Construction.	w Construction.
Winning Vendor	Items Won
Energy Mechanical Inc.	
99 Milbar Blvd.	
Farmingdale, NY 11735	All Items
Michael Raguseo	
718-866-8544	
Mike@energymechanicalny.com	